Channel Enabled, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 0, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 1, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 2, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 3, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 4, Hold=35, Fit Intercept vs 18*Chip+Chan
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| Enables off, ADC Mean vs 18*Chip+Chan |
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Enable 0, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan

12000._!... .“’, .. o

10000 |—

8000 |—

6000 [—

4000 —

2000 |—
Qaidedun
0— WMW
_ | | | | | | | | | | | | | | | | | | | |
0

20 40 60 80 100

Enable 0, Hold=35, DAC=4400, ADC Noise vs 18*Chip+Chan

18

16

14
®

12

10

'|||$|||'|III|III|III|

A



Enable 0, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8000, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan

16000

14000

12000

10000

8000

6000

4000

2000

T T T
s

o®

o®

O

N
o

N
o

Enable 1, Hold=35, DAC=6000, ADC Noise vs 18*Chip+Chan

12

10 |
®




Enable 1, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan

30000 -
25000
20000
15000
10000

5000

III|IIII|IIII|IIII|IIII|IIIIhI
s
[
%
s
L
%
%

TP e e/ P ey PRSI . |

o

20 40 60 80 100

Enable 1, Hold=35, DAC=12000, ADC Noise vs 18*Chip+Chan

60

50

40

30

IIII|IIII|IIII|III

||||||||||
—@—

20

10

Wo@ﬁéﬁﬁiﬁm sﬁa’.‘i

OO 20 40 80 100



Enable 1, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan

30000

25000

20000

15000

Enable 2, Hold=35, DAC=13200, ADC Noise vs 18*Chip+Chan

140

120

100

80

60

N
o

~o—
-0~

N
o

@
H@H

@

@

.i
:

o

20

N
o
()]
o
0]
o

100




Enable 2, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan

16000

14000

12000

10000

8000

6000

4000

2000

I|III|III|III|III|III|III|IIIPIII

0 20 40 60 80 100

Enable 3, Hold=35, DAC=6000, ADC Noise vs 18*Chip+Chan

5 8 & &5 5
EEQJ_I_L.||||||||||||||

(0¢]




Enable 3, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 3,

Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan

30000

© O o * o ° o

25000 ° % ® et
20000
15000

10000

5000

III|IIII|IIII|IIII|IIII|I5II

o YRS s e TADERS o g o TEENOANAARIRS . |

0 20 40 60 80 100

Enable 3, Hold=35, DAC=10400, ADC Noise vs 18*Chip+Chan

10_.'§q§§i§?§ i’ P
P8 W ot o gé &?



Enable 3, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan

24000
22000
20000
18000
16000
14000
12000
10000
8000
6000
4000
2000
0

o® o® ¢ o 6 O © o ® o®

A R R I BRI

0 20 40 60 80 100

Enable 4, Hold=35, DAC=8400, ADC Noise vs 18*Chip+Chan

20

18

16

14

12

10

(e}

SN

N

3 H%%% é #*j%

o|||||||
)
o
N
o
o
o
0
o
H
o
S



Enable 4, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable

4, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan

30000 e ® © o 0 ° ° . 9o

25000

20000

15000

10000

5000

0

o

20 40 60 80 100

Enable 4, Hold=35, DAC=12800, ADC Noise vs 18*Chip+Chan

18

16

14

12

iﬁW% G

40 60 80 100

C3|||||||
)
o



Enable 4, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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| Chip 0, Channel 0, Enable 0!, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 26.48/ 16
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Chip 0, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 29.85/16
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| Chip 0, Channel 1, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 16.46/ 16
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Chip 0, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC | x° I ndf 14.07 /16
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pl 0.01937 +0.0001985

1000

950
900

850

800

Chip 0, Channel 1, Enable 1, Hold=35, ADC Noise vs DAC

14

12

10

1 |
4000 6000

Chip 0, Channel 1, Enable 1, Hold=35, ADC Residuals vs DAC |

10

N
|III|III|III|III|III|III|III|III|I




| Chip 0, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 26.35/16
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| Chip 0, Channel 1, Enable 3!, Hold=35, ADC Mean vs DAC | X* / ndf 1436/ 16
pO 955.5 + 2.326
pl 2.539 + 0.0003368
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Chip 0, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 36.57/16
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| Chip 0, Channel 2, Enable 0!, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 16.05/ 16
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| Chip 0, Channel 2, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 22.09/16
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pl 0.0165 +0.0001739
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| Chip 0, Channel 2, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 21.38/16
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Chip 0, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 34.15/ 16
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| Chip 0, Channel 3, Enable 1!, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 24.42 /16
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Chip 0, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 29.07 /16

PO 726.4 + 1.664
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Chip 0, Channel 3, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 21.64/16
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| Chip 0, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 24.2 /16
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Chip 0, Channel 4, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 4, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 18.61/ 16
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Chip 0, Channel 4, Enable 4!, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 28.05/16
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Chip 0, Channel 5, Enable 1!, Hold=35, ADC Mean vs DAC | x° I ndf 4330/ 16
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Chip 0, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 5, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 31.26/ 16
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Chip 0, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 31.57/16

616.3 +1.535
0.01825 + 0.000193

860

L J P
840
820
800
780
760
740
720
700

680

Chip 0, Channel 6, Enable 0, Hold=35, ADC Noise vs DAC

16

14

12

10

Chip 0, Channel 6, Enable 0, Hold=35, ADC Residuals vs DAC |

¢ ; ¢

boopat
++ +§++ ‘ +$+ + §§++ %

-10

-15




Chip 0, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 6, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 27.55/16
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Chip 0, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC |
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| Chip 0, Channel 7, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 35.4/16
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Chip 0, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 7, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 26.15/ 16
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Chip 0, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 19.58/ 16
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| Chip 0, Channel 8, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 22.11/16
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| Chip 0, Channel 8, Enable 2!, Hold=35, ADC Mean vs DAC | X° / ndf 1291/ 16
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Chip 0, Channel 8, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 38.35/16
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Chip 0, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 59.82/16
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Chip 0, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 39.8/16
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Chip 0, Channel 9, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 33.4/16
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| Chip 0, Channel 9, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 26.04/ 16
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| Chip 0, Channel 10, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 24.02/16
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Chip 0, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | x° I ndf 31.33/16
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Chip 0, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 23.69/16
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Chip 0, Channel 10, Enable 3!, Hold=35, ADC Mean vs DAC | x° I ndf 2198/ 16
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Chip 0, Channel 11, Enable 0!, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 56.29 /16
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| Chip 0, Channel 13, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 23.87 /16
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| Chip 0, Channel 14, Enable 1!, Hold=35, ADC Mean vs DAC | X° I ndf 640.3/16
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| Chip 0, Channel 14, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 30.51/16
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Chip 0, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 16, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 23.25/16
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Chip 0, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 11, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 13.1/16
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Chip 1, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 18.63/16

47.56 +£1.198
0.01125+0.0001582

v
180 ®

09
160
140

120

100

Chip 1, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC

12

10

o
II|III|III|III|III|II

Chip 1, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC |

*9
§§§§§§§§§++§*;+ééé *
¢

-20

-25 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1
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Chip 1, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 12.69/16
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Chip 1, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 28.15/16
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Chip 1, Channel 13, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 39.26 /16
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Chip 1, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 16.26/ 16

36.79 +1.397
0.01504 + 0.0001817

220

200

180

160

140

120

100

Chip 1, Channel 13, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

Chip 1, Channel 13, Enable 3, Hold=35, ADC Residuals vs DAC |

©00,090%0000000000°%,,
-20
-40
-60
-80

-100




| Chip 1, Channel 13, Enable 4, Hold=35, ADC Mean vs DAC

260

240

220

200

180

160

140

120

100

x° I ndf

2478116
32.19 +1.605

0.01879 = 0.0002029

| Chip1

, Channel 13, Enable 4, Hold=35, ADC Noise vs DAC

11

10

1 |
4000 6000

| Chip 1, Channel 13, Enable 4, Hold=35, ADC Residuals vs DAC

-20

-40

-60

-80

-100




Chip 1, Channel 14, Enable 0, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 14, Enable 2, Hold=35, ADC Mean vs DAC | X* I ndf 36.06 /16
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Chip 1, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 27.58 /16
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Chip 1, Channel 15, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 24.79 /16
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Chip 1, Channel 16, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 18.75/ 16
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Chip 1, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC | x° I ndf 22.46 /16
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Chip 1, Channel 17, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 2.484e+05/ 16
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Chip 2, Channel 0, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 20.9/16
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| Chip 2, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 11.65/16
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| Chip 2, Channel 3, Enable 1!, Hold=35, ADC Mean vs DAC | X* / ndf 594.5/16
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Chip 2, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 2, Channel 3, Enable 4, Hold=35, ADC Mean vs DAC
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Chip 2, Channel 4, Enable 1, Hold=35, ADC Mean vs DAC
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| Chip 2, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 9.556/ 16
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| Chip 2, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 16.33/ 16
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Chip 2, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 2, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 29.95/16
pO 509 + 1.436
pl 0.017 £ 0.0001843

740

720

700

680

660

640

620

600

580

| Chip 2, Channel 6, Enable 0, Hold=35, ADC Noise vs DAC

12

11

10

o
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

1 |
4000 6000

| Chip 2, Channel 6, Enable 0, Hold=35, ADC Residuals vs DAC |

10

¢ ax

’

*
H++++“ p*%p

o
|IIII|IIII|IIII|IIII|II

-10 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1




Chip 2, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 2, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 2, Channel 7, Enable 4, Hold=35, ADC Mean vs DAC
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| Chip 2, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 18.13/16
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Chip 2, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 22.11/16
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pO 315 + 1.47
pl 0.01807 = 0.0001944

580

560
540
520
500
480
460
440
420
400

380

| Chip 2, Channel 10, Enable 0, Hold=35, ADC Noise vs DAC

12

11

10

©
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

| Chip 2, Channel 10, Enable 0, Hold=35, ADC Residuals vs DAC |
12

10

8




| Chip 2, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 13.13/16
560 310.2 + 1.422
0.01832 + 0.0001836

540

[ A )

[ J
520

500
480
460
440
420

400

380

| Chip 2, Channel 10, Enable 1, Hold=35, ADC Noise vs DAC
14

12

10

| Chip 2, Channel 10, Enable 1, Hold=35, ADC Residuals vs DAC |

*§§§*§§é+§éé§§§’§§§§*§§

-30

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
o

-35




| Chip 2, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 21.42 /16
330 +£1.339
0.003724 + 0.0001724

375

370

365

360

355

350

345

340

| Chip 2, Channel 10, Enable 2, Hold=35, ADC Noise vs DAC
12

11

10

o
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

| Chip 2, Channel 10, Enable 2, Hold=35, ADC Residuals vs DAC |

¢,

L
L]

-10

-15

-20

-25

-30

-35 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1 ] 1




| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Mean vs DAC | X* / ndf 1044 /16
546.4 +2.444
2.514 + 0.0003599

30000

25000

20000

15000

10000

| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Noise vs DAC

50

40

30

20

10

ITTTT | ITTTT || ITT || T || ITTTT | ITTTT
—@—

- @
i @
@

@
@

o

®

@

o

1 |
4000 6000

| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Residuals vs DAC |

©000000000000000,,

-500
-1000
-1500
-2000
-2500
-3000
-3500

-4000

-4500




| Chip 2, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 37.48/16
pO 317 + 1.465
pl 0.01451+0.0001889

520

oV
500 ®

480
460
440
420
400

380

| Chip 2, Channel 10, Enable 4, Hold=35, ADC Noise vs DAC
13

12

11

10

| Chip 2, Channel 10, Enable 4, Hold=35, ADC Residuals vs DAC |

III|III|IIITIII|III|III|III
—@—
—@—
—@—
—@—




| Chip 2, Channel 11, Enable 0!, Hold=35, ADC Mean vs DAC | X° I ndf 965.3/16
pO 642.7 +1.828
pl 2.544 + 0.0002756

30000

25000

20000

15000

10000

| Chip 2, Channel 11, Enable 0!, Hold=35, ADC Noise vs DAC
80

70
60
50
40
30
20

10 o0 ® ..QC..

|
8000

| Chip 2, Channel 11, Enable 0!, Hold=35, ADC Residuals vs DAC |

-1000 o

[
-2000

-3000

-4000




| Chip 2, Channel 11, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 21.99/16
pO 4414+ 1.29
pl 0.01839 + 0.0001675

680 o ° v e o
660

640
620
600
580
560
540

520

500

| Chip 2, Channel 11, Enable 1, Hold=35, ADC Noise vs DAC

12

11

10

o
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

1 | |
4000 6000 14000

| Chip 2, Channel 11, Enable 1, Hold=35, ADC Residuals vs DAC |
10

X, 5,000

-20

-25

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-®-




x° I ndf

| Chip 2, Channel 11, Enable 2, Hold=35, ADC Mean vs DAC |

420

42.65/16
4749 +1.271
-0.01333 + 0.0001656

400

380

360

340

320

300

280

260

| Chip 2, Channel 11, Enable 2, Hold=35, ADC Noise vs DAC

13

12

11

10

| Chip 2, Channel 11, Enable 2, Hold=35, ADC Residuals vs DAC |

¢ XX,
. setet §+§§§§§§§§§

-25

¢




| Chip 2, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC

680

660

640

620

600

580

560

540

520

500

x° I ndf
pO0
pl

38.45/16
451.3 +£1.347
0.01515 +0.0001724

| Chip 2, Channel 11, Enable 3, Hold=35, ADC Noise vs DAC

13
12

11

10

|  Chip2

, Channel 11, Enable 3, Hold=35, ADC Residuals vs DAC

20

15

10

-9
—@—

H@H

—9-
-

+§§§+§§

o**

4000

8000

10000




Chip 2

, Channel 11, Enable 4, Hold=35, ADC Mean vs DAC |

640

620

600

580

560

540

520

500

x° I ndf

17.61/16
451.2 +1.513
0.01444 +0.0001978

Chip 2, Channel 11, Enable 4, Hold=35, ADC Noise vs DAC

11

10

4000

Chip 2

, Channel 11, Enable 4, Hold=35, ADC Residuals vs DAC

10




| Chip 2, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 32.75/16
620 pO 4315+ 1.33
pl 0.01302 = 0.0001658

600 ®

580
560
540
520

500

480

| Chip 2, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC

12

10

o
III|III|III|III|III|III

| Chip 2, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC |




| Chip 2, Channel 12, Enable 1!, Hold=35, ADC Mean vs DAC |

30000

25000

20000

15000

10000

717.6/16
616.9 + 2.497
2.554 + 0.0003856

| Chip2

, Channel 12, Enable 1!, Hold=35, ADC Noise vs DAC

80

70

60

50

40

30

20

10

| |
4000 6000

|  Chip2

, Channel 12, Enable 1!, Hold=35, ADC Residuals vs DAC

-1000

-2000

-3000

-4000

-5000




Chip 2, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 4767 /16

934.5 + 3.328

— -0.3876 + 0.0005491
-1000 —
-2000 —
-3000 —
-4000 |—
-5000 [—

— [ ®

: 1 I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1

2000 6000 8000 10000 12000 14000

Chip 2, Channel 12, Enable 2, Hold=35, ADC Noise vs DAC

140
120
100
80
60
40
Qéé.éj 00 .

20 Y

ITT ||| ||| ||| ITT ||| ||| ||| TTT |||
—@—
—@—

0 1

| 1 |
4000 6000

Chip 2, Channel 12, Enable 2, Hold=35, ADC Residuals vs DAC |

200

° ° Py o [ ) o o0 () o PY
°® o,
-200
-400
-600

-800

-1000

-1200 I ] I I I ] I I I ] I I I ] I 1 1 ] 1 1 1 ] 1




Chip 2, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 2, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 20.81/16
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Chip 2, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 19.49/ 16
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Chip 2, Channel 15, Enable 0, Hold=35, ADC Mean vs DAC
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PO 327.9 +1.484
p1 0.01289 + 0.0001967

520 | J

500 ®

480
460
440
420

400

380

Chip 2, Channel 15, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

Chip 2, Channel 15, Enable 3, Hold=35, ADC Residuals vs DAC |

20
15

10

{.é
§+

TIRAIASILN

4000 6000 8000 10000 12000 14000
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Chip 3, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 3, Channel 2, Enable 0, Hold=35, ADC Mean vs DAC
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| Chip 3, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 13.45/16
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| Chip 3, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 26.77/ 16
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Chip 3, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 13.64/ 16
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Chip 3, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC

| x° I ndf

280

260

240

220

200

180

160

140

120

100

25.18/16
40.34 +£1.438

0.01786 = 0.0001815

Chip 3, Channel 3, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

1 |
4000 6000

Chip 3

, Channel 3, Enable 3, Hold=35, ADC Residuals vs DAC |

N

o & A N o

-10
-12

-14

—@—

$?

boagrt 3¥

3

é%?** %

* 4




| Chip 3, Channel 3, Enable 4!, Hold=35, ADC Mean vs DAC | X° / ndf 2145/ 16
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Chip 3, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC

360

x° I ndf
pO0
pl

31.96/16
132.5 +1.352
0.01522 + 0.0001757

340

320

300

280

260

240

220

200

180

| Chip 3, Channel 4, Enable 0, Hold=35, ADC Noise vs DAC

11

10

4000

| Chip 3, Channel 4, Enable 0, Hold=35, ADC Residuals vs DAC |
15

10

o1
|| FTT1 | FTT1 | FTTT1 || I ||
—@—




| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Mean vs DAC | X° / ndf 832.3/16
3559+ 3.36
2.528 + 0.0006045

30000

25000

20000

15000

10000

| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Noise vs DAC

90
80
70
60
" + ‘}
40

30
20

]
10 o o0 PS o o [ )

| |
4000 6000 8000

0

| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Residuals vs DAC |

-1000
-2000
-3000
-4000

-5000




| Chip 3, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC
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| Chip 3, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 38.07/16
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Chip 3, Channel 6, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 23.27/16
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Chip 3, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 16.22/ 16
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| Chip 3, Channel 7, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 3, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 3, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 18.93/ 16
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Chip 3, Channel 8, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 14.73/ 16
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Chip 3, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 11.14/ 16
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| Chip 4, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 27.22 /16
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| Chip 4, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 15.32/ 16
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| Chip 4, Channel 0, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 38.86/ 16
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| Chip 4, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 39.48/16
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| Chip 4, Channel 1, Enable 3!, Hold=35, ADC Mean vs DAC | X* / ndf 845.3/16
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460

440

420

400

380

360

340

320

300
280

X2/ ndf 28.31/16
pO 215.3 + 1.346
pl 0.01646 + 0.0001754

| Chip 4, Channel 1, Enable 4, Hold=35, ADC Noise vs DAC

11

10

4000

| chip4a

, Channel 1, Enable 4, Hold=35, ADC Residuals vs DAC

4000

1 1 I 1 1 1 I 1
12000 14000

1 1 I 1 1 1 I 1
12000 14000




| Chip 4, Channel 2, Enable 0!, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 14.79/ 16
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Chip 4, Channel 2, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 2, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 17.57/16
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| Chip 4, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 10.63/ 16
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| Chip 4, Channel 3, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 16.49/ 16
pO 302.1+ 1.262
pl 0.01841 + 0.0001657

560

540 o °®
520
500
480
460
440
420
400
380

360

| Chip 4, Channel 3, Enable 4, Hold=35, ADC Noise vs DAC

11

10

1 |
4000 6000

| Chip 4, Channel 3, Enable 4, Hold=35, ADC Residuals vs DAC |




| Chip 4, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 6.657 /16
420 204.9 + 1.385
0.01745 + 0.0001828

400 o
[ )
o
380

360
340
320
300

280

| Chip 4, Channel 4, Enable 0, Hold=35, ADC Noise vs DAC

14

12

10

| Chip 4, Channel 4, Enable 0, Hold=35, ADC Residuals vs DAC |

©0000s00%0°%°0%°%,5000
-10
-20
-30
-40
-50

-60
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| Chip 4, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 12.07/ 16
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4456 £2.181
2.538 + 0.000326

30000

25000

20000

15000

10000

| Chip 4, Channel 4, Enable 4!, Hold=35, ADC Noise vs DAC

45

40

35

30

25

20

15

10

@
@
@
L 4
L J
@
@
@
@
@
@

|||||||||||||||||||||||||||||||||||||||||||||
—@—
—@—

1 |
4000 6000

| Chip 4, Channel 4, Enable 4!, Hold=35, ADC Residuals vs DAC |

-1000

-2000

-3000

-4000




Chip 4, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC |

x° I ndf

460

440

420

400

380

360

340

320

15.95/16
249.6 +1.321
0.0177 + 0.000175

4000

Chip 4, Channel 5, Enable 0, Hold=35, ADC Noise vs DAC

11

10

Chip 4, Channel 5, Enable 0, Hold=35, ADC Residuals vs DAC

10
o000 ® e_.004p0
.Q o0 ® o
-10
-20
-30
-40

-50




| Chip 4, Channel 5, Enable 1!, Hold=35, ADC Mean vs DAC |

30000

25000

20000

15000

10000

1214/16
465 + 2.398
2.57 +£0.0003668

| Chip 4, Channel 5, Enable 1!, Hold=35, ADC Noise vs DAC

50

40

30

20

10

.é.éQééégj

|
4000 6000

| chip4a

, Channel 5, Enable 1!, Hold=35, ADC Residuals vs DAC

-1000

-2000

-3000

-4000

-5000




| Chip 4, Channel 5, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 8.897 /16
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| Chip 4, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 34.86/ 16
po 262.3 +1.451
pl 0.01739 + 0.0001915

500

o0 ®

480
o

460 L

o
440
420
400
380
360

340

320

1 |
4000 6000

| Chip 4, Channel 5, Enable 3, Hold=35, ADC Noise vs DAC

12

10

©
II|III|III|III|III|I

1 |
4000 6000

| Chip 4, Channel 5, Enable 3, Hold=35, ADC Residuals vs DAC |

III|III|III|III<|DIII|III|III|III
—@—
—@—
—@—




Chip 4, Channel 5, Enable 4, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 6.781/16
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| Chip 4, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 27.33/16
pO 324.1+1.412
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| Chip 4, Channel 7, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 13.41/16
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| Chip 4, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC
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Chip 4, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC |
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| Chip 4, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 18.41/ 16
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| Chip 4, Channel 9, Enable 0!, Hold=35, ADC Mean vs DAC | X* / ndf 406.9/16
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| Chip 4, Channel 9, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 15.63/ 16
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| Chip 4, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 19.54 /16
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| Chip 4, Channel 9, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 17.8/16
p0o 264.7 + 1.375
pl 0.01701 £ 0.0001729
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Chip 4, Channel 9, Enable 4, Hold=35, ADC Mean vs DAC | X~ / ndf 19.8/16

pO 262.9 + 1.414
p1 0.01533 + 0.0001841
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Chip 4, Channel 10, Enable 0, Hold=35, ADC Mean vs DAC | X~ / ndf
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| Chip 4, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 19.73 /16
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| Chip 4, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 9.459/16
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| Chip 4, Channel 10, Enable 3!, Hold=35, ADC Mean vs DAC | X° / ndf 1177/ 16
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Chip 4, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 26.36/ 16
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Chip 4, Channel 11, Enable 0!, Hold=35, ADC Mean vs DAC |
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Chip 4, Channel 11, Enable 1, Hold=35, ADC Mean vs DAC |
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Chip 4, Channel 11, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 4, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 11.96 /16
po 221.9 + 1.254
pl 0.01323 + 0.0001694

380

360 o

340
320
300

280

| Chip 4, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC
11

10

9

\,
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

| Chip 4, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC |

Qoéfo.QQOQQQQQQQQQDD
®
o

-10
[
-20

-30

-40




| Chip 4, Channel 12, Enable 1!, Hold=35, ADC Mean vs DAC | X° I ndf 706.9/16
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Chip 4, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC | x° I ndf 6955/ 16
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| Chip 4, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC |
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| Chip 4, Channel 12, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 29.58/16
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| Chip 4, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 10.44/ 16
p0 168.7 + 1.499
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Chip 4, Channel 13, Enable 1, Hold=35, ADC Mean vs DAC |
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Chip 4, Channel 13, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 78.51/16
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Chip 4, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 4, Channel 13, Enable 4!, Hold=35, ADC Mean vs DAC | X° I ndf 2553/ 16
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| Chip 4, Channel 14, Enable 1!, Hold=35, ADC Mean vs DAC | X° I ndf 564.5/16
542.1+ 3.93
2.533 £ 0.0007415
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| Chip 4, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 32.74/ 16
pO 310.7 + 1.377
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| Chip 4, Channel 14, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 17.99/16
pO 305.4 + 1.387
pl 0.01577 +£0.0001839
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| Chip 4, Channel 15, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 14.18/16
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| Chip 4, Channel 15, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 9.17/ 16
p0 211.3+1.471
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| Chip 4, Channel 15, Enable 2!, Hold=35, ADC Mean vs DAC | X* / ndf 1.093/16
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| Chip 4, Channel 15, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 13.81/16
pO 225.7 + 1.364
pl 0.0133 £0.0001781
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| Chip 4, Channel 15, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 24.68/16
420 PO 221.5 +1.454
pl 0.01418 + 0.0001864
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| Chip 4, Channel 16, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 24.2 /16
p0 231.7 + 1.494
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| Chip 4, Channel 16, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 11.29/ 16
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| Chip 4, Channel 16, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 13.47 /16
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| Chip 4, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 16.45/16
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pl 0.014 + 0.000196

440

o’
420
400
380
360

340

320

300

| Chip 4, Channel 16, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

o
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

| Chip 4, Channel 16, Enable 3, Hold=35, ADC Residuals vs DAC |

|||||||||IITIIITIII||||||||||II|II
—@—
—@—
—@—
—@—
—@—




| Chip 4, Channel 16, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 24.05/16
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| Chip 4, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 19.69/ 16
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| Chip 4, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 16.96 / 16
p0 153.7 +1.469
pl 0.01629 = 0.0001933
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Chip 5, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 23.69/16
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| Chip 5, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 18.39/ 16
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Chip 5, Channel 1, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 24.88 /16
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Chip 5, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 27.69/16
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Chip 5, Channel 2, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 30.66/ 16
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Chip 5, Channel 2, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 16.58/ 16
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Chip 5, Channel 3, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 25.49/ 16
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Chip 5, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 23.43 /16
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Chip 5, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 5, Channel 4, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 29.93/16
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| Chip 5, Channel 4, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 23.43/16
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Chip 5, Channel 5, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC

350

300

250

200

150

100

x° I ndf
pO0
pl

27.81/16
38.05 +1.377

0.02067 = 0.000179

Chip 5, Channel 6, Enable 1, Hold=35, ADC Noise vs DAC

14

12

10

—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

1 |
4000 6000

Chip 5, Channel 6, Enable 1, Hold=35, ADC Residuals vs DAC

15

10

++§++

o
|IIII|IIII|IIII|IIII|I

- —@—
| —@—

'
(&)

¢
2% ®

1

4000 6000 8000

10000




Chip 5, Channel 6, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC
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| Chip 5, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 18.2/16
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Chip 5, Channel 8, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC
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| Chip 5, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 19.12/ 16
po 90.83 + 1.124
pl 0.02087 + 0.0001559
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Chip 5, Channel 16, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 20.77/ 16

PO 86.61+ 1.39
p1 0.02141 + 0.0001766

400

350

300

250

200

150

Chip 5, Channel 16, Enable 4, Hold=35, ADC Noise vs DAC

11

10

1 | | | | |
4000 6000 8000 10000 12000 14000

Chip 5, Channel 16, Enable 4, Hold=35, ADC Residuals vs DAC |

20
15

10

TLITRIFT. H“H{"} K




| Chip 5, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 23.86/16
po -60.35 + 1.397
250 — pl 0.02109 + 0.0001777
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Chip 5, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 5, Channel 17, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 3.612e+04 /16
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Chip 5, Channel 17, Enable 3, Hold=35, ADC Mean vs DAC
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